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10+3. 4= 40+4. 9= —2()2
10—3. 4= 15.9—10. 8= 6()+6
20+5. 8= 3.6+0.9= —20()+2
20—5. 8= 15—0. 3= —3()o
2.5+2= 25-+0. 7= —4()—4.5
2.5—2= 0. 8740. 09= -0
5. 342, 2= 2.14—0. 9= O3
5.3—2.2= 0.75+15= - OE
4. 840. 6= 0. 65-+4. 35— +0-1
4.8—0.6= 0.24+14= 0.1()+o0.01
5.840.3= 3—0.16= —1.2(0)—102
5.8—0.3= 1.37+3.63= 0.01()—0.1
4.1—0.5= 8.2+1.8= —2.5()—2.7
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100X (1—10%) =
20X (1—20%) =
50X (1—30%) =
60X (1—60%) =
110X (1—40%) =
120X (1—50%) =
250X (1—60%) =
1000 X (1—91%) =
300X (1—98%) =
45X (1—70%) =
200X (1—85%) =
120X (1—92%) =
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s ):( )% 110X 60% =
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( 0 >:( )% 250X 40 % =
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700X 90 % =
800X 80% =
600X 70% =
200X 25 % =
100X 35% =
100X 140% =
200X 130% =
300X120% =
400X 110% =
500X 120% =
60X 150% =
40X 75% =

240X 60% =

700X (1—10%) =
800X (1—20%) =
600X (1—30%)=
200X (1—75%) =
100X (1—65%) =
100X (1+40%) =
200X (1+30%) =
300X (14-20%) =
400X (1+10%) =
500X (14+20%) =
60X (1+50%) =
40X (1—25%) =

240X (1—40%) =
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200X 1. 5% = (1200—1000) X 3. 5% =
25X 4 %= (3200—200) X 4% =
72X 3% = (440—400) X2, 5% =
45X 20% = (750—150) X 6% =
400X3. 2% = (7500—5000) X 2% =
10X 9% = (8500—8000) X 3% =
20X 8% = (7400—400) X 2% =
30X 7%= (5000—3000) X 5% =
40X 6% = (440—40) X6%=
50X5%= (950—900) X 5% =
60X 4% = (160—100) X 4% =
70X3%= (770—700) X3% =
80X 2% = (100—20) X 2% =
90X 1% = (590—500) X 1% =
100X1. 5% = (600—500) X1, 5% =
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1200—1000X 3. 5% =
3200—200X 4 % =
440—400X 2. 5% =
750—150 X 6% =
7500—5000X 2% =
(800—700) X 3% =
800—700X 3% =
500—300X 5% =
(500—300) X 5% =
950—900 X 5% =
160—100X4% =
770—700X 3% =
100—20X 2% =
590—500X 1% =

600—500X 2% =
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FE(1)
1+7%= 2.5% X3= 4000 2. 5% X 3=
1—7%= 3. 4% X5= 2000 3. 4% X 5=
1+2.5%= 4. 2% X 2= 5000 X4, 2% X 2=
1—2.5%= 7.6%X2= 10000 X 7. 6% X 2=
1+15%= 4. 2% X5= 400X 4, 2% X 5=
1—15%= 0.29% X 1= 1000X 3. 2% X 2=
1+1.5%= 4. 3% X 2= 2000 X4, 8% X 5=
1+3.75% = 0. 7% X3= 250X 3. 7% X 4=
1+2.25% = 1. 21% X 4= 500X 2. 89% X 2=
1+22. 5% = 4. 5% X 5= 200X 1. 8% X 5=
1+46% = 8.3% X3= 5000 X4, 08 % X 2=
1+4. 6% = L1%X7= 4000X 3, 1% X5=
1+35. 4% = 4. 1% X 8= 8000 X 5% X 20=
143.54% = 3% X 9= 1200X 2, 5% X 4=
1+7.2%= 2.5%X10= 600X 2% X5=
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=11 (6= s
FHE(2) =
300X1, 2= 500X 12% = 500X 12% X 7=
300X0. 12= 120X5% = 120 X5% X 8=
600X 1, 5= 400X 15% = 400X 15% X5=
6000, 15= 400X1. 5% = 400X 1. 5% X 6=
800X 1, 3= 2. 75% X 2= 2. 75% X2 X 5=
800X 0. 13= 100 X1 %= 100X1%+9=
400X 4. 5= 1+-1%= 1-1%X7=
4000, 45= 4X25% = 4X25% X12=
200X 2, 7= 8X125% = 10—8X125% =
200X0. 27= 40% X 25= 409X 25—10=
500X 1. 3= 8% X12.5= 8% X 12.5X70=
5000. 13= 1+50% = 1-+50% X5=
70X 1. 4= 2X50% = 2X50% X57=
70X0. 14= 300X 3% = 300X3% +3=
700X0. 14= 22% X 4= 22% X4 X100=
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120X30% = 120—120X30% = 120X (1—30%) =
180X30% = 180—30X 2= 500X (1+20%) =
150 X40% = 150—15X4= 500X (1—20%) =
250X 40% = 250—25X 4= 80X (1+25%) =
350X40% = 350—35X4= 360X (1—50%) =
180X 50% = 180—50X 1= 100X (1+5%) =
240X 50% = 240—50X 2= 100X (1—5%) =
360X50% = 360—50X3= 200X (1+15%) =
420X 50% = 420—50X 4= 200X (1—15%) =
120X 60% = 120—40X 1= 300X (1+30%) =
230X 60% = 230—40X 2= 300X (1—30%) =
340X 60% = 340—40X 3= 400X (1+20%) =
450 X 60 % = 450—40X 4= 400X (1—20%) =
510X 70% = 510—30X5= 40X (1450%) =
620X 70% = 620—30X 6= 40X (1—50%) =
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BR #5128 (2)
2.4+20%= 200X (1—80%) =
3.6+30% = 300X (1—50%) =
7.5+5%= 120X (1—40%) =
2.8=+7%= 400X (14-25%) =
0.48+12%= 400X (1—75%) =
5--50% = 90X (1+10%) =
1.2+40%= 80X (1+20%) =
18+30% = 70X (1+30%) =
14-+20% = 60X (1+40%) =
5.6+10%= 50X (1+50%) =
39+-13% = 40X (1+60%) =
7.6+38% = 30X (14+70%) =
0.72+36%= 20X (1+80%) =
15+5%= 10X (14-90%) =
0.8+80% = 800X (1+25%) =
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300+ (1—50%) =
300+ (1+50%) =
400+ (1—75%) =
96+ (1+20%) =
3.5+(1—30%)=
12--(1—40%) =
2.4+(1—20%)=
45+(1—10%) =
3+-(1—50%)=
48+ (1—80%) =
90+(1—70%) =
3.6 (1—60%) =
0. 65+ (1—90%) =

0.08=(1—98%) =
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—1.5()1L5 10+1%= 0.7+(1—90%) =
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+0.01()o 1+25% = 40X (1—70%) =
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1. Rk 5
=EI*ZEBIIAIR
14X 1= 3.14X0. 1= 3. 14 X1 X2=
.14 X2= 3. 14X0. 2= 3. 14 X2X2=
.14 X 3= 3. 14X0. 3= 3. 14 X3X2=
14X 4= 3.14X0. 4= 3. 14 X4 X2=
.14 X5= 3.14X0.5= 3. 14 X5X2=
.14 X6= 3. 14 X0. 6= 3. 14 X10X 2=
14X 7= 3. 14 X0, 7= 3. 14 X20X2=
.14 X 8= 3.14X0. 8= 3. 14 X30X2=
.14 X9= 3.14X0. 9= 3. 14 X40X 2=
.14 X10= 3. 14 X50= 3. 14 X50X2=
.14 X20= 3.14X0.01= 3. 14X 15X 2=
.14 X30= 3. 14X0. 02= 3. 14 X25X 2=
.14 X40= 3. 14 X0, 03= 3.14 X35 X2=
.14 X60= 3.14X0. 04= 3. 14 X45X 2=
.14 X70= 3. 14X0. 05= 3.14X0.5X2=
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1. H5—5, 2. SR IBIAE po Ml AR
3.14X80= 3.14X0, 4X 2= C=2.3m,h=2m

3. 14X 300= 3.14X0. 5X2= Sy =

3. 14X 40= 3.14X1.5X2= C=18dm,h=3dm
3.14X100= 3.14X2. 5X2= Sy =

3. 14X 20= 3.14X3.5X2= C=4. 2cm,h=5cm
3. 14X 60= 3. 14X 4. 5X2= Sy =

3. 14X 90= 3. 14X 100X 2= C=6. 28m,h=0. Im
3. 14X 30= 3. 14X 200X 2= Sy =

3. 14X 70= 3. 14X 300X 2= d=10dm,h=4dm
3. 14X900= 3. 14X 15X 2= Sy =

3.14X0. 5= 3. 14X 20X 2= d=8cm,h=12. 5cm
3.14X0. 6= 3. 14X50X 2= Sy =

3.14X0. 8= 3.14X0, 2X 2= d=25cm.h=4cm
3.14X0. 3= 3.14X0, 3X2= Sy =
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(2+2)= 3. 14 X6 X5= 3. 14 X5+3. 14 X4=

(10+2)2= 3. 14 X8 X5= 3.14X2+3. 14 X6=

(18+2)2= 3. 14 X15X2= 3.14X3+3. 14 X7=

(1+2)*= 3. 14 X4 X25= 3. 14X4+43. 14 X6=

3. 14X 1= 3. 14 X8 X125= 3. 14X1+3.14X8=

3. 14X 2= 3. 14 X7X0.1= 3.14X12+3.14X18=

3. 14X 3= 3. 14 X9X10= 3. 14X27+3.14X23=

3. 14 X10*= 3. 140, 1 X100= 3.14X2+3.14X2=

3. 14X (4--2)*= 3. 14X 35X 2= 3.14X0. 143. 14 X0. 2=

3. 14X (6+-2)"= 3.14X2X10= 3. 14 X30+3. 14 X60=

3. 14X (20+2)*= 3. 14 X45X 2= 3. 14X11+3.14X19=

3. 14X (40+2)% = 3. 14 X12X5= 3. 14X 25+3. 14 X75=

3. 14X (60+2)2= 3. 14 X30X3= 3. 14 X7+3.14X3=

3.14X(0.2+2)"= 3.14X25X2= 3.14X34—3.14 X14=

3. 14X (0. 4+2)2= 3. 14X 2. 5X8= 3. 14 X52—3. 14 X45=
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H+=PI A EFR(3)

31.4+3. 14= 3.14X11—3. 14= 3.14X1343. 14X 17=
9,423, 14= 3. 14X5+12= 3.14X1643. 14X 4=
9423, 14= 3. 14X7—10= 3.14X2543. 14X 15=
15.7+3. 14= 3. 14X 304-20= 3.14X8143. 14X 9=
1.57+3. 14= 3.14X6+5= 3. 14X 3643. 14X 4=
12.56+3. 14= 3. 14X 40+30= 6.28+3.14+2=
18. 84=3. 14= 3.14 X 100+100= 50X 3. 14X 20=
188. 43, 14= 3X4+3. 14= TX3+5X6=
62.8=3.14= 5X3.14—3. 14= 28+6X7=
125. 63, 14= 3.14X8+5= 3. 14 X4+50=
1573, 14= 2X 1, 2X5= 3.14X9+3. 14=
219.8-+3. 14= 3. 14X5X 2= 94, 2-+3. 14+2=
251, 2+3. 14= 3.14X4X0. 25= 3.14X5+10=
282.6-+3. 14= 3.14X54+10= 205X 3. 14=
28263, 14= 9.42-+3. 14+2= 8+3.14X2=

=
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1. 2X5=

48 X20=

25X0.2=

2.1X9=

9.6X0.2=

3. 14X 3=

12. 5X8=

1.4 X 7=

1. 8X0. 5=

3.5 X3=

1. 5X6=

3.6X4=

2.4X0.5=

1. 8X3=

2.6X2=
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12X2=

28 X5=
22X 25=
42X 5=
52X 2=

52 X 4=

92 X 100=
12X 6=

0. 2% X 25=
0. 12 X100=
208X 2=
62X 3=
7EX2=

92 X 5=

82X 2=
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3. 14X 12X 2=

3. 14X 22 X5=

3. 14X 22 X 25=
3. 14X 42 X5=

3. 14X 52X 2=

3. 14X 52 X 4=

3. 14X 12 X5=

3. 14X 12X 6=
3.14X0. 22 X25=
3.14X0. 1 X100=
3. 14X20° X 2=
3. 14X 52X 20=
3. 14X30* X0, 1=

3.14X0. 32 X10=

3.14X0. 5* X4=
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FE1Z2BIFR(2)

4,2--2= 3. 143, 14= 3.14=3. 14+2=
2=+0.2= 6.28=+3. 14= 6.28—+3.14+2=
8§+0.01= 9.42--3. 14= 9.42--3. 14+2=
0.63—=+—3= 12.56=+3. 14= 12.56+3. 14=+2=
3.6=0.4= 15,73, 14= 15.7=3. 14=+-2=
42--0.7= 18. 84=-3. 14= 18.84=3. 14+2=
24.6-+3= 21.98--3. 14= 21.98=+3. 14=-2=
1.6+8= 25.12-=-3. 14= 25.12=3. 14+2=
960-+-20= 28,263, 14= 28.26=3.14=+2=
5.6+1.4= 31.4-=3. 14= 31.4=3.14+2=
9.2=2= 1.256=+3. 14= 1.256-+3.14+2=
16. 8+4= 1. 884-=-3. 14= 1. 8843, 14=-2=
5. 2—+1.3= 62.8=3. 14= 62.8=+3. 14+2=
9.8+0.7= 9423, 14= 942--3. 14=-2=
36+—1.2= 2.512-3. 14= 2.512=3.14=+2=
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1. Rl
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.14><5: 32722:
.14><7: 42_32:
.14><ZO: 62742:
.14><40: 72_32:
.14><602 82722:
.14><8(): 92_12:
.14><8: 32712:
.14><10: 42_22:
140, 9= e
- 14X0.7= 0.52—0, 42 =
14X 200= 0.97—0.17=
.14><O.5: 6027402:
140, 03= 30— 207 —
. 14X900= 40t — 307 —

iR

g

N ELib) s
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3. 14X (37 —28)=
3. 14X (42 —32) =

3. 14X (52 —42) =

3. 14X (67 —4*) =

3. 14X (72 —32) =

3. 14X (8 —28) =

3. 14X (9P —1%) =

3. 14X (37 —1%)=

(42 —2) X 4=

(7" —5%) X10=
3.14X(0.5°—0. 4*) =
3.14X(0. 92—0. 12) =
3. 14X (602 —40%) =
3. 14X (302—20%) =
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H1EBIEIR (4)
22X 1.5= 3.14X3= 3. 14X 32X 10=
32X 20= 3.14X5= 3.14X0. 12 X10=
52X 6= 3. 14X 8= 3. 14X 52X 4=
42 X 3= 3. 14X 6= 3. 14X (6+2)*=
0.72X10%= 3.14X20= 3.14 X (4+2)2=
62X 2= 3. 14X 4= 3.14X(2+2)2=
9% X 3= 3. 14X 7= 3.14X 22X 5=
82 X 5= 3. 14X 9= 3. 14X 42X 5=
72X 20= 3. 14X 15X 2= 3.14X 22X 2=
52 X 4= 3.14X5X8= 3.14X22X0. 5=
42 X 5= 3. 14X 12X 5= 3. 14X 10% X 3=
0. 22X 10= 3.14X3.5X2= 3. 14X 52 X 2=
42 X 4= 3. 14X 14X 5= 3. 14X 202 X 2=
3EX 7= 3. 14X 25X 4= 3. 14 X102 X 6=
202 X 5= 3.14X9X10= 3.14X0. 12 X 20=

=
e ELib) g (/DS N (8
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Ligxio= 48X AX L= 1z xg=
3 3 3
1 B 1 1y
Lwsxor= 0. 16X L% 15= Lg2ys
3 3 3
1 B 1. 1y o
Lgoxii= 5. 4X <X 9= L xgo=
3 3 3
Losxio= 3. oxLwg— 1=
3 <253 3
1 rgxs= 45X L 5= L grxg=
3 -0 X3 3
1 _ 1_ 2 1
=X6X2 1.2X3X 2 X 3% 3
1 o 1 5 1
Lorxs= 0. 9XTX L= 320, 5X 4=
3 3 3
Lorxa= 45X L o= 62X 1X L —
3 -0 X3 3
1 . 1 _ 2 1_
Loixg= 11X £ x24= L2XEX L=
3 3 3
Laxg= TXEx1 8= 5230, 3X £ =
3 5 <1 <35
%xzxgg: 90X 93— 52><6><%=
%x1.5><4: 0. 5-3X30= 22><1.2><%:
%xgxz.as: 0. 6X8§—3= 0. 52><3><%:
2 AT = 4B oo
= Fnt 4 B, oAt
B T
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BIPHE>)
16X5X3. 14— 3. 14 X0, 52 X 4= 52><12><%:
3. 14X5X16= 3.14X0. 22 X 100= %XSZXZOZ
3. 14X 2. 5X4= 3. 14X 3 X 10— %x:s. 1432 X 20=
2X5X3, 14= 22X 5X3, 14— 9><%><3. 14=
3. 14X5X 2= 3. 14X 22 X 5= 3, 14><32><%:
5% 3. 14X 2= 524X 3. 14= 12><6><%=
25X 23, 14— 3. 14X 52 X 4= 3. 14><12><6><%:
3. 14X 25X 2= 22X 25X 3, 14= 22><3><%:
25X 3, 14X 2= 3. 14X 22 X 25— 3, 14><22><3><%:
0.5X8X3. 14= 22X0.5X3. 14= 12><15><%:
3,14 X0, 5X8= 3. 14X 22 X0, 5= 3, 14><12><15><%_
83, 140, 5= 12.5X3. 14X 8= 12><%=
15X4X3. 14= 23, 14X 25— 42><12><%:
2 E,—-ia—ia -------------------------------------------------------------------------------
= o Iy TN ST
"""""""""""""""""""""""""""""""""""""""""""""""""""""""" 19
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2
Edn k5, Vi =nr’ hs a%nﬁzé,vﬁi:n(%) h.



20

g T @EBAB80  ATHEET®R)
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120, 5= 3. 14X 4— 3. 14X 20X 2—
2. 4X 4= 3. 14X 8= 3. 14X0. 1X5=
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